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Halloween Story
One night a group of Young Kids Who wanted 

lots and lots of delicious candy and treats 

wandered into the mysterious mansion but not 

knowingly just wandered into their DEMISE at 

the hands of Dr.Junkenstein.



Eye The Orange Pumpkins
As they walked straight into the house, they fell straight into a hole. 

Lucky they landed right on top of a bunch of pumpkins cushioning their 

fall.  As they all got up they were faced with a sign and a door. The sign 

saying “There are Posters all around you, one of these posters has the 

key to opening the door, the only problem is that there is 5 poster in 

front of you, yOU MUST FIND THE AREA OF THE CORRECT POSTER. tHE lENGTH 

OF THE CORRECT POSTER IS 12 CM, WHILE THE LENGTH IS 10 CM. WHAT IS THE 

AREA OF THE CORRECT POSTER? 

Eye The Orange Pumpkins

Solution

a=lw

a=10(12) 

a=120 cm ² The correct Poster has the area of 120 cm 

squared ²



Eye The Orange Pumpkins Eye The Orange Pumpkins 
As you find the poster which you thought had the key, 

instead had a box, with a keypad attached to it. With it, it 

had a sign attach saying, “the code to this key pad is the 

area remaining in rectangle  facing you. The dimensions to 

it is  15 cm while the side is 10. To find the area of the 

remaining part, you must find the area of the second 

rectangle which has the dimensions of 3 and 6.” wHAT IS THE 

AREA OF THE FIRST RECTANGLE? wHAT AREA IS THE SECOND 

RECTANGLE? wHAt is the remaining area of the leftover 

rectangle (the keypad code) ?



Eye The Orange Pumpkins  SolutionEye The Orange Pumpkins  Solution 
fIRST RECTANGLE:

a=lxw

a=15X10

a=150CM ²

sECOND rECTANGLE:

a=Lxw

a=3x6

a=18cm ²

The Remaining area

A=R1-R2

A=150-18

A=132cm²

The keypad number is 132



The Rectangular Scare
As they opened the door, they found out that they made it into another 
room. This time, they were shown with 3-D shapes on a table,a strange hole 
shaped in a square,and a sign saying, “There are shapes on top of the table, 
each shape has a different type of volume. You must find the volume of each 
shape, in order to know what rectangular prism could fit perfectly inside 
the hole. The lENGTH of ALL THE 5 shapes ARE 4 cm. tHE FIRST SHAPE HAS A wIDTH IS 
6, tHE SECOND SHAPE HAS A WIDTH OF 5 AND THE LAST SHAPE HAS A WIDTH OF 8 . tHE 
HEIGHT OF THE CORRECT SHAPE IS 6 CM AND THE VOLUME OF IT IS 144. What is the 
correct shape

The Rectangular Scare



The Rectangular Scare Solution
cALCULATION: The way to solve this question is to do trial and error.

 

The Rectangular Scare Solution

V=LxWxH    V=LxWxH   V=LxWxh
 =4x6x6           =4x5x6         =4x8x6
=144                  =120              =192

The first shape with a width of 6cm is the correct 
shape to fit in the hole through the door to let the 
group escape mere death!



The Ladder Fall

As they finished the problem, a ladder fell down from the sky. On the ladder it had a sign, 
it said “This ladder will help you get out, but with a catch. You must know how long the 
hypotenuse of the ladder will be as once you entered the measurement you won’t be able 
to change how long the ladder is. There is a hint, the measurement of the right angle 
triangle base is 15 m.” As you look around you noticed that the hole above you was right 
beside a wall, that wall was 10 m tall and your base is in the letter you have. You need to 
find out how long the hypotenuse is?

The Ladder Fall



The Ladder Fall Solution

Solution:

The base= 15m     

Length = 10m                 

Hypotenuse = ??                         

The Ladder Fall Solution

A ²+B ²=C ²

10 ²+15 ²=c ²

100+225=C ²

325=c ²

√325=√c²

18.02m=c

The hypotenuse 
of the ladder is 
18.02m



The Candy Trouble

As you make it out of the basement, you find Dr.Junkenstein looking at a scatter plot. 
After talking to Dr. Junkenstein you find out that he is really trying to find the rate of 
change of the graph.The points are (5,25) , (15, 75) , (30, 150) and (60, 300).  He also 
ask about how much candy he must have for 150 people. what is the rate of change of 
the graph, and is the graph linear



The Candy Trouble Solution

Solution for What is the Rate Of 
Change?

M=(Y2-y1)/(X2-X1)

M= (75-25)/(15-5)

M= 50/10

M=5

How much candy he 
must give to 150 
people?

Y=mx-b

75=5(15)- b

75 - 75 = b

0=b 

Y=mx-b

Y=5(150) - 0

Y=5(150)

Y = 750

Is the Graph 
Linear?

Yes, the graph is 
linear.



Thanks for Listening!!!!!!
https://www.youtube.com/watch?v=w5F_gfaX2B4

https://www.youtube.com/watch?v=w5F_gfaX2B4

